gopbboboooobooboogd

3 Uogg

gbooboooboboboooooooobo20000b00b0b0booboobo 1000
OO0 A3000000000000n0000000000000O0O0O0O0OODOODOO
gobodboooobooboooobooboobbooboobboobon

00 3.1 QOR"0000ecQ00O0 feC(N)DOO00000O0O0f0e0000
0000Vf(e)=0000000

00 Oje{l,2,...,n}0000000002;010000
goj(xj) = f(al,...,aj,l,xj,ajJrl,...,an)
DClDDDDD@Z@DDDDDDDDDDDDDDDD

oaz) = ng;(“) —0 (<j<n)

0000Vf(e)=000000000

1000000000000000000R00000000 Vf(e)=0000OOOOFf
elDO0O0DOODOOODOODOOODODOOO

00 3.1 Vf(e)=000000 eO0O0fO000000O0ODO

goooboooboooodiobooobooobooooooboboobooboooobo
gboobooboboobobooboboboooboboboobooboobooboooobooboo
gboooooboobobobooboboobobooboobobobooboobobo
gbobooooliboboboboboboob 20b0b0ob0obOoboOobO0b0O0OnOD
gboopooobo20b0boboboboooboboboobbobooboboonooobon

00 3.2 feC?*(Q)00000nxn00000

o — 82f
Hy(x) = (8%8%‘ (m)) 1<i,j<n

0% f 0% f 0% f
ﬁix%(m) 0x10x2 T 0x10x, r
o°f () ﬁ(m) . 0 f T
— 0x1079 895% O0x20x,
R BTN
0x10z, 0x90x, ox2

O fO0HesseOODOOODO



00 3.20000000 QO R"0000acQdfeC?(QOO000 Vf(a)=00000
0oooo

(1) Hf(@)0ODODD0D0OO00000f0e0000000
(2) Hi(e)DODODODOODOOODO0Of0e0000000
(3) Hy(e)DODODODODOOOOOODO0eD fO0000O0

gbobobooboboooooooooooooooooooooo

00 3.1 (1) 0000000000000 0000O0O0OD0O0O0O0O000OnxnOO
OO0 HOODOO0DOnxeOOOOTOOOOD

M 0

A2

0 .

OO0O0O0O0ODO0dOM,A,...,\, 0 HOOOOOODO
(2) TOnxnOODDDOOOOOT'=TI07T000000000

T'HT =

[Tz|| == (V& <R")

UbooooDobobb0y=T:O0DOO0O0O0OOD0D0 000000000 yODOO
gbobooboobbooboobbooboobboroobooboooobm

0032000 fOeOOOOO Taylor DO0OOO0DOfeC(Q)00000000

(@)(q
@)=Y W ap i p@

= J(@) + Y g(@)e =) + 5 YD 5 @)~ )@ — o) + R

i=1 i=1 j=1
1
:fW%Hw—a%Vﬂ®+§@—a%Qﬂ@ﬂw—®)+3@)
DDDDDDDDDDR(m)DDDDDDDD
R
lim (z) =
z—a ||z — al|
goofoototoootoooootooooboboo oo oooooboooon
gooooooooooooooooooan Vf(a)zODDDDDD

1
(@)= f(a) = 5( - a) - (Hs(a)(z - a)) + R(z)
00000000020 e00000000000000000000000000O 3.1

0000000 He(e)ODOODOOOOTOO00DOO0O000O000O00OO

v 0

T'Hi(a)T = . = A

0

0 (3.1)



0000000000M,...,\0 Hy(e)0DOOOOOOODOOOO0ODOOTOO0O0O0Oy =
T-Y(z-e)00000000 x00y00000000000e000D0D00O0O0OO0
gbobobobobobobobobobob

f(@) - f(a) = 5(Ty) - (Hy(@)Ty) + R(z)

::%y.aﬁﬂyawTy)+fﬂw)

1
= 5y (Ay) + R(x)
1
= 5yl + ) + R(@)

O00O000O0Eulid0000000000 (Ax) -y = x- (Aly) (x,y € R*) 000
Tt=T"l000oooooon
(H)O0D0O00ON>0(1<j<n) 000000

)\0 = min{)\l, eay /\n}

00000MN>X>0000 |jy|=|Ty|=|lz—e| 0000000

F(@) ~ (@) > Sholy? ++-+2) + R(w)

1
= holla — all* + ()
1 R(x
= <)\0 + ()) |z — a||2

27 lz—af?

0000000 R(z)0 (3.1)000000000000000006>0000000<
lz—a|<60000000 0000

[R(z)] _ 1
L <D
[z —af? =47
gooogoooooood
1
f(:c)—f(a)zz)\o||w—a||2>0 for O0<|x—al| <d

0000f0e00000000000000
(2)0000X<0(1<j<np) 000000

)\0 = max{/\l, ey )\n}

ooo000MN, <X <0000

1

S+ +vn) + R(@)
1 R(x

= <2)\0 + H()> |z — al?

x — al?

f(x) - f(a)

IN

0000000000 () 00000000000 ooooooDoédé>o0000O0O0O

1
f(a:)—f(a)gi)\o||a:—a||2<0 for O0<|x—al <§

3



00d0bO0bO0bO00f0 e0DODODODODODOD

3)000o0ooooUoOoA>0> 000000000000y 00000 fOO

gooooOoOoO0o0oOooooOO00y =(y,0,...,0000 fO000000O0OOOOOOO

z=a+ (Te))yy000 e, =(1,0,...,0)0) 0000
1

@) = fla) = ghui + Rla).  Jim T

00000000000y 00000 f00000000000f0y =0000000
r=e¢00000000000000000000000yw 00000 f0000000
000000000y =(0,1,0,...,0000 f000000000f0y=0000000
r=a0000000000000000000000000 0 f00000000000

=0

031 flz,y)=a*—y*—32+12y0000000000000000000f0000
ooooooon

Vi(z,y) = (322 — 3, -3y> + 12)
O00Vf(z,y)=00000

(z,y) = (£1,+2) 000000

oooooooo fODOO00ODCOO0OOOOD 3200000000DCO0OODOOOO

ooooooooon
6 O
H¢(z,y) =
£, y) ( 0 —6y )

000f0 HesseOO Hy(z,y) 00000 62, —6y0000000000f0 (z,y) = (1,-2)
0000 (z,y)=(-1,2)0000000(z,y) =+(1,2)0 f0000000

gududuobiblb ooooooooOooooooooooooooooooooooo
gboobobooobooobooboboobobooboboooboobobooooboo
goboboboboboobobobooboobog,...,900ooOoO

g1(®) = -+ = gm(z) =0

0000000000000 000000O0000000D f(x)DODODODOOODOODOO
gboooboooobooboobobobooboobooboobooobobobo
3.100000000000000000000000000

00 3.30Lagrange 0000000 QO R"O000f000g=(g1,...,9m)0 QOO0
0000 C'000000S:={zec|gx)=0}000000000

(1) fO0ecsSO0000S000000
(2) rank(Dg(a)) =m (<n)

000000 A= (A,...,An) €ER®O0000
Df(a)+ ADg(a) =0
ggoooooboboobbbotboddoooooon

(V(f 4+ Mg+ + Amgm)) (@) = 0



